MULTIPLICATION: 3-digit x 1-digit, 3-digit x 2-digit,
3-digit x 3-digit, 2-digit x 2-digit

Copy each equation below into your books and solve. Show all your working.

[1]

[4]

[7]

[10]

[13]

[16]

[19]

[22]

355 x 6 =
356 x 4 =
712 x 87

614 x 16

55 51 =
92 14 =
312 x 536
432 x 554

[2] 467 x 5

[5] 231 x 9

[8] 572 x 73

[11] 778 x 82

[14] 67 x 14

[17] 55 x 42
[20] 523

x 592

[23] 461 x 514
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[6] 247

[9] 926 x 84

16

X

[12] 572

[15] 81 x 22

[18] 35 x 11

[21] 712 x 646

[24] 508 x 491



ANSWERS
MULTIPLICATION: 3-digit x 1-digit, 3-digit x 2-digit,
3_digit X 3_digit’ Z_digit X Z_digit hitp://www.learnersgrid.com

Copy each equation below into your books and solve. Show all your working.

[1] 355 x 6= [2] 467 x 5= [3] 501 x 8=
2,130 2,335 4,008

[4] 356 x 4= [51 231 x 9= [6] 247 x 4 =
1,424 2,079 988

[7] 712 x 87 [8] 572 x 73 [9] 926 x 84
61,944 41,756 77,784

[10] 614 x 16 [11] 778 x 82 [12] 572 x 16

9,824 63,796 9,152
[13] 55 x 51 = [14] 67 x 14 = [15] 81 x 22 =
2,805 938 1,782

[16] 92 x 14 [17] 55 x 42 [18] 35 x 11
1,288 2,310 385

[19] 312 x 536 [20] 523 x 592 [21] 712 x 646
167,232 309,616 459,952

[22] 432 x 554 = [23] 461 x 514 [24] 508 x 491
239,328 236,954 249,428



